Which table is correct?
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1. Last V\‘/eek Andy deo|ded to r‘nake a table of each typ_e_o_f_s.mac,kjn,e_b_oﬂgh_t_fo_Lh«_i_s__
family. Which table is correct using the given data below? | T
iC,an,ds‘/ bars, fruit pops, Alr‘n,onds, candy bars, fruit pops, Candy bars, candy bars,
almonds, candy bars, almonds.

u) e 0 [
J ' Snacks | Candy Fruit Almond | \ Snacks Candy |Fruit Almond
bars pPoPS ‘ bars pPopPS
Amount 5 4 4 Amount 5 2] 3

2. Emma has a collection of marbles with different colours. She decided to makea
table of each type of marble colour. Use the data below to pick out the correct .

~_tablein the list

D Clour of | Red Green | Blue ‘D Clour of | Red | |Green | Blue
marbles marble
Total 9 7 8 Total v 8 8_ 7
~ 3. Yesterday, Anna went to the “‘Forever %1” store and bought some clothes. |
| Which table shows the mrrpr’r different kind of clothes using the given data below?
Dress, T-shirt, [’ T-shirt, .sweater,‘.. jean, sweater, shorts, Jacket, dress, Jean,
Jean, jacket, shorts, qhor’rq‘, sweater, jacket, dress
g Jacket T-shirt Jean Sweater | Dress. D Jacket T-shirt Jean eater | Dress
3 2 3 3 3 | 4 | 2 2 3| 5
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Which table is correct?

1. Last week, Andy decided to make a table of each type of snack he bought for his =
family. Which table is correct using the given data below? | ) I N | ()
Candy bars, fruit pops, Almonds, candy bars, fruit pops, Candy bars, candy bars,
almonds, candy bars, almonds.

D Snacks Candy Fruit Almond | M Snacks Candy Fruit Almond
bars pPoPS bars pPopPS ‘

Amount 5 | 4 4 | [ Amount 5 | 2 3

~ 2.  Emma has a collection of marbles with different colours. She decided to makea
table of each type of marble colour. Use the data below to pick out the correct
table in the list.

D Clourof | Red = |Green| Blue | | Ll/ Clourof | Red | |[Green | Blue |
marbles marble
Total ‘ 9 | 7 g | | Total v 8 _ 8_ 7

3. Yesterday, Anna went to the “‘Forever 21” store and bought some clothes. |

| Which table shows the correct different kind of clothes using the given databelow?
Dress, T-shirt, T-shirt, sweater, jean, sweater, shorts, Jacket, dress, Jean,
Jean, jacket, shorts, shorts, sweater, jacket, dress. = 1 .|

.
M ~Jacket | T-shirt |Jean | Sweater | Dress| D _Jacket |

T-shirt  |Jean | Sweater | Dress
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